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INSTRUCTIONS

1. This paper consists of 5 Questions.

2.  Answer Question 1 (Compulsory) and any other 2 questions.

3.  Write your answers on the answer booklet provided. 
a) Define marginal costing and give its limitations.                                                     (6 marks)

b) The following data relate to Kenya Ltd for the year ended 31 December 2009.

Sh ‘000’

Sales





 24,000

Less: Total costs



 20,000

Net profit




   4,000

Fixed costs account for 40% of the total costs.

Required:

i) Margin of safety.                                                                                                (2 marks)

ii) Break-even point in sales                                                                                   (2 marks)

iii) Sales required to earn profit of Sh 6,000,000.                                                     (2 marks)
iv) In order to increase sales, the management has the following two options:
1. To increase sales by 25% on incurring a sales promotion cost of  Sh 2,500,000.

2. To increase sales by 15% on reducing selling price by 5%.Advise the management on which option they should take.                                                                                          (8 marks)
c )   ABC Lt. Is a manufacturing company that makes only three products P, Q and R.  Data for the period ended last month are as follows:

	
	P
	Q
	R

	Units produced and sold
	12,000
	16,000
	8,000

	
	
	
	

	
	Sh.
	Sh.
	Sh.

	Sales price per unit
	50
	70
	60

	Direct material cost per unit
	16
	24
	20

	Direct labour cost per unit
	8
	12
	8

	

	Production overheads costs
	Total
	Cost drivers

Machine hours

Machine hours

Number of production runs

	
	Sh.
	

	Machining costs
	102,000
	

	Production scheduling
	  84,000
	

	Set-up costs 
	  54,000
	

	Quality control
	  49,200
	Number of production runs

	Receiving materials
	  64,800
	Number of components receipts

	Packing materials
	   36,000
	Number of customer orders

	
	390,000

	
	


Information on the cost drier is given as follows:





          P

Q

R


Direct labour hours per unit

1

1½

1


Machine hours per unit

          ½

1

1½


Number of components per unit
           3

5

8


Number of component receipts
         18
 
80

64


Number of customer orders

6

20

10


Number of production runs

6

16

8
Required:

Using activity based costing (ABC) show the cost and gross profit per unit for each product during the period.






(10 marks)            (Total:  30 marks)
QUESTION  TWO

a) State and briefly explain three assumptions underlying the break-even theory.  (6 marks)

b) Jamii Company Ltd manufactures and sells a single product.  The following information regarding the company’s operations for the year ended 30 September 2011 was presented to you.

Profit and loss account for the year ended 30 September 2011

	
	
	Sh’000
	Sh’000

	Sales
	
	
	30,000

	Less:
	
	
	

	
	Production costs
	
	

	
	Direct material
	6,500
	

	
	Direct labour
	5,400
	

	
	Production overhead variable
	7,000
	

	
	Prime costs
	
	18,900

	
	
	
	11,100

	
	Other expenses:
	
	

	
	Selling – Variable
	2,600
	

	
	            - Cost
	1,997
	

	
	Administration
	2,100
	6,697

	
	Net profit
	
	4,403


The following changes are expected to occur during the year ending 30 September 2012:

1. Selling price will be adjusted downward by 3% in order to attract more customers.

2. Material prices will rise by 2% due to inflation.

3. There will be a reduction in labour cost of 4%.

4. Production overheads will increase by 3%.

5. Increase in the efficiency of sales persons will reduce direct selling costs by 5%.

All other factors are expected to remain constant.
Required:

a) Break-even point in sales value.                                                                         (4 marks)

b) The margin of safety in sales value.                                                                    (2 marks)

c) The sales value at which profit of Sh 4.5 million will be achieved.                        (2 marks)

d) A summary operating statement that shows the net profit of Sh 4.5 million in 


(c) above.                                                                                                          (6marks)
QUESTION THREE

Kibabii Enterprises Ltd has two divisions Mugaa and Gwashati.  Mugaa division manufactures an intermediate product for which there is no external market.  Gwashati division incorporates the intermediate product into a final product, which it sells. One unit of the intermediate product is used in the production of the final product.  The expected units of the final product which Gwashati division estimates it can sell at various selling prices are as follows:



Net selling Price

Quantity sold



          Sh.


        Units

100 1000

  90


         2000

  80


         3000

  70


         4000

                                  60                                         5000

                                  50


          6000

The variable and fixed costs of each division are as follows:





Mugaa

Gwashati





Sh.

Sh.

Variable cost pr unit

11

7

Fixed cost per annum

60,000

90,000

The transfer price is Sh.35 for the intermediate product, and is determined on a full cost-plus basis.
Required:

a) Profit statements for each division and the company as a whole for the various selling prices.                         










    (12 marks)
b) Which selling prices maximize the profits of Gwashati division and the company as a whole?  Comment on why the selling price (which is selected by the company) is not selected by Gwashati division.                                                                    


       (3 marks)
c) It has been argued that full cost is an inappropriate basis for selling transfer prices.  Outline the objections which can be raised against this basis.                                                       (5 marks)


                                                                                                (Total:  20 marks) 
QUESTION FOUR
a) Mount Sinai Health Centre specializes in the provision of sports/exercise and medical/dietary advice to clients.  The service is provided on a residential basis and clients reside for whatever number of days that suit their needs.Budgeted estimates for the year ending 30 June 2012 are as follows:
1. The maximum capacity of the center is 50 clients per day for 350 days in the year.

2. Clients will be invoiced at a fee per day.  The budgeted occupancy level will vary with the client fee level per day and is estimated at different percentages of maximum capacity as follows:

	Client fee
	Occupancy level
	Occupancy as a percentage

	per day (sh)
	
	of maximum capacity

	3,600
	High
	90%

	4,000
	Most likely
	75%

	4,400
	Low
	60%

	
	
	

	
	
	


3. Variable costs are also estimated at one of the three levels per client day.  The high most likely and low levels per client per day are Sh.1,900, Sh.1,700 ad Sh.1,400 respectively.

4. The range of cost levels reflects only the possible effect of the purchase prices of goods and services.

Required:

(i) A summary which shows the budgeted contribution to be earned by Mount Sinai Health Centre for  the year ended 30 June 2012 for each of the  nine possible outcomes.


                                                                (10 marks)
(ii) State the client fee strategy for the year to end 30 June 2012 which will result from the use of each of the following decision rules.

(a) Maximax;

(b) Maximin;

(c) Minimax regret.



                               (5 marks)
b) The probabilities of variable costs levels occurring at the high, most likely and low levels provided in the question are estimated at 0.1, 0.6 and o.3 respectively

     Required: Compute the maximum amount you would be willing to pay to acquire perfect   information.








                     (5 marks) 
     (Total:  20 marks)

QUESTION FIVE

(a) You are the cost accountant of a company whose management is in need of a report on the previous years’ cost management practices.  Explain the characteristics of an effective report.











        (5 marks)
(b) Management is often faced with situations whereby products which are manufactured within the organization have higher manufacturing costs compared to that which would have been paid for if the products were bought in an open market.  However, a decision to discontinue manufacture in favour of buying cannot be made simply by comparing internal costs with external buying prices.  Explain four factors which the management should take into consideration when making such a decision.




       (15 marks)
2

